Name Student No

Question 4. {12 marks, 6 marks each}

For each of the following schedules determine whether the schedule is conflict-serializable or view-
serializable. Justify your answers.

LR T1 T2 ; T3

SRS

| write(C)
write(B)
read(B)

read(C)
write(C)

\

read(C)
Is it conflict-serializable? \/ e

e ?recgi@f\ce %YO\P\“?‘

GeaPlt s no cycle.

Is it view-serializable? Ye S

WHY?

Wk s Cowff\cl—-’ie("a;‘»gorc'éj
v also view Ser‘a\'»ga%le
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T1 | T2 | T3

i |
| read(C)

write(C) \ ‘
 write(C)
' i

read(B) | ’
! ‘ write(C)

Is it conflict-serializable? N O

MU Peecedonce  gpeaph

G\\ro\@k Jos O cycle

Is it view-serializable? y %

\} \t(&uvefdxﬁva\w+ Lo Mo
cota) echedule:
) WAL T TS
L Te veuds Amital J ceadt Avithia) B
72 weker Sina) C y A both SCM@LU\‘WQ
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Question 5. {12 marks, 4 marks each}

Consider the following schedule involving three transactions T1, T2, and T3:

Operation# T1 T2 T3
1 read(C)
2 read(B)
- read(A
4 read(C)
3 write(B)
6 write(A) #—é
7 read(B)
8 read(A)
9 write(C)
10 write(B)
11 commit
12 commit
13 commit o \o ¥ UK’U‘(UAQ

M
!
a.  Can this schedule be produced by the regular two-phase locking protocol ? Justify your answer.
(Ether show that the protocol is violated or show when the release phase for each transaction
starts).

2 o Yes!
. Relewse @\,m@g Shorct Ok

e otftec 2 % oelbice Y

T2: abrec 9
Th OL[f‘rﬁ\’G omd belne 7

b. Can this schedule be produced by the strict two-phase locking protocol ? Justify your answer.

o - No!
. TL s Lo keep Yhe ook for Coch
‘Yo e @\N&‘) G connot read/wake C.

¢. Is this schedule a recoverable schedule? Justify your answer.

A Y
NS ceats B Hak o produced by T3,

bok 2 Comwmits belpce T2 commit
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-~

6 {6 marks} Suppose that at some time during the execution of a database system we have the
transaction scenario shown on the following table:

! Data items Data items
Transaction . s -
locked by transaction transaction is waiting for
Tl B A,C
T2 C D.E
T3 E.F G
T4 D A
TS5 A,G &

Determine whether a deadlock exists and justify your answer.

¢ UJO\M — LU\( %\(Q@\[L

- GeapW Jwy  aycles
> Therelne | Yaece A o dead ook
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